SECOND AMENDMENT

This Amendment is made and entered into this 15th day of May, 2024, by and between Pinellas County, a political subdivision of the State of Florida, hereinafter referred to as "County," and VSC Fire & Security, Inc. hereinafter referred to as "Contractor," (individually referred to as "Party", collectively "Parties").

WITNESSETH:

WHEREAS, the County and the Contractor entered into an agreement on June 13, 2023, pursuant to Pinellas County Contract No. 23-0476-ITB (hereinafter "Agreement") pursuant to which the Contractor agreed to provide Fire Protection System Services for County; and

WHEREAS, Section 25 ("Amendment") of the Agreement permits modification by mutual written agreement of the parties; and

WHEREAS, the County and the Contractor now wish to modify the Agreement in order to provide for the removal of two service locations, at the same prices, terms, and conditions;

NOW THEREFORE, the Parties agree that the Agreement is amended as follows:

- 1. 1800 66th St., St. Petersburg (line item 62) and 4017 56th St., St. Petersburg (line item 55) are hereby removed as service locations in the Agreement.
- 2. Section 6 ("Compensation and Method of Payment"), subsection B ("Spending Cap and Payment Structure") is revised to reflect a decrease in the amount of Three Thousand Six Hundred and Thirty-five Dollars and Zero Cents (\$3,635.00), for a new total not-to-exceed sum of One Million, Nine Hundred, Ninety-Two Thousand, Six Hundred Fifteen Dollars and Zero Cents (\$1,992,615.00).
- Exhibit C Payment Schedule is hereby deleted in its entirety and replaced with Exhibit C
 Payment Schedule attached hereto. The revised Exhibit C includes the removal of the service locations set forth in line item 1 of this Amendment.
- 4. Except as changed or modified herein, all provisions and conditions of the original Agreement and any amendments thereto shall remain in full force and effect.

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 1 of 29

Each Party to this Amendment represents and warrants that: (i) it has the full right and authority and has obtained all necessary approvals to enter into this Amendment; (ii) each person executing this Amendment on behalf of the Party is authorized to do so; (iii) this Amendment constitutes a valid and legally binding obligation of the Party, enforceable in accordance with its terms.

IN WITNESS WHEREOF the Parties herein have executed this Second Amendment as of the day and year first written above.

Pinellas County, a political subdivision of the State of Florida:	Contractor: VSC Fire & Security, Inc.
Merry Coloste	Pelastif
Signatue	Signature
Merry Celeste	Pete J. Willie Jr.
Printed Name	Printed Name
Division Director, Purchasing & Risk	Vice President Division Manager
Printed Title	Printed Title
5/15/2024	14 May 2024
Date	Date

APPROVED AS TO FORM

By: Keiah Townsend
Office of the County Attorney

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 2 of 29

EXHIBIT C

PAYMENT SCHEDULE

No. In	Location	Frequency	UNIT	PRICE PER	CONTRACT	CONTRACT
Bid	Location	Trequency	QTY	INSPECTION/TEST	TERM QTY	TERM TOTAL
	GROUP A	- DAS FACILITY	OPERATIO	NS NORTHWEST		
1	County Courthouse 315 Court St Clearwater AFTER HOURS TESTING					
	Fire Panel	Annual	1	\$9,245.00	3	\$27,735.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Standpipe Inspection	Quarterly	1	\$185.00	9	\$1,665.00
	Standpipe Inspection	Annual	1	\$285.00	3	\$855.00
	Standpipe Inspection	5 Year	1	\$300.00	1	\$300.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
2	Courthouse Garage 315 Court St Clearwater AFTER HOURS TESTING					
	Standpipe Hydro Static test	5 year	1	\$360.00	1	\$360.00
	Fire Sprinkler System	Quarterly	1	\$185.00	9	\$1,665.00
	Fire Sprinkler System	Annual	1	\$225.00	3	\$675.00
	Fire Sprinkler System	3 Year	1	\$300.00	1	\$300.00
	Fire Sprinkler System	5 year	1	\$300.00	1	\$300.00
	Standpipe Inspection	Quarterly	1	\$185.00	9	\$1,665.00
	Standpipe Inspection	Annual	1	\$385.00	3	\$1,155.00
	Standpipe Inspection	5 Year	1	\$300.00	1	\$300.00
3	Old Courthouse 325 S Ft Harrison Ave Clearwater AFTER HOURS TESTING					
	Fire Panel	Annual	1	\$1,520.00	3	\$4,560.00
	Fire Sprinkler System	Quarterly	1	\$240.00	9	\$2,160.00
	Fire Sprinkler System	Annual	1	\$360.00	3	\$1,080.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$650.00	1	\$650.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
4	Annex Building 400 S Ft Harrison Ave Clearwater AFTER HOURS TESTING					
	Fire Panel	Annual	1	\$2,100.00	3	\$6,300.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 3 of 29

Sensitivity Testing	Bi- Annual	1	\$600.00	1	\$600.00
Standpipe Inspection	Quarterly	1	\$220.00	9	\$1,980.00
Standpipe Inspection	Annual	1	\$385.00	3	\$1,155.00
Standpipe Inspection	5 Year	1	\$500.00	1	\$500.00
Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00

5	Chemical Suppression System 911 area – Computer Room 400 S Ft Harrison Ave Clearwater					
	Fire Panel	Annual	1	\$300.00	3	\$900.00
	Chemical Suppression System	Semi- Annual	1	\$300.00	6	\$1,800.00
	Sensitivity Testing	Bi- Annual	1	\$300.00	1	\$300.00
6	Chemical Suppression System 911 area –Telephone Room 400 S Ft Harrison Ave Clearwater					
	Fire Panel	Annual	1	\$300.00	3	\$900.00
	Chemical Suppression System	Semi- Annual	1	\$300.00	6	\$1,800.00
	Sensitivity Testing	Bi- Annual	1	\$300.00	1	\$300.00
7	Chemical Suppression System 911 area-UPS Room 400 S Ft Harrison Ave Clearwater					
	Fire Panel	Annual	1	\$300.00	3	\$900.00
	Chemical Suppression System	Semi- Annual	1	\$300.00	6	\$1,800.00
	Sensitivity Testing	Bi- Annual	1	\$300.00	1	\$300.00
8	Building Department 440 Court St Clearwater					
	Fire Panel	Annual	1	\$1,875.00	3	\$5,625.00
	Fire Sprinkler System	Quarterly	1	\$395.00	9	\$3,555.00
	Fire Sprinkler System	Annual	1	\$795.00	3	\$2,385.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Sensitivity Testing	Bi- Annual	1	\$695.00	1	\$695.00
	Standpipe Inspection	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe Inspection	Annual	1	\$385.00	3	\$1,155.00
	Standpipe Inspection	5 Year	1	\$500.00	1	\$500.00

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 4 of 29

9	Planning					
	310 Court St Clearwater					
	Fire Panel	Annual	1	\$750.00	3	\$2,250.00
10	Planning Garage 310 Court St Clearwater					
	Fire Panel	Annual	1	\$300.00	3	\$900.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$150.00	1	\$150.00
11	Air Quality 509 East Ave S Clearwater					
	Fire Panel	Annual	1	\$1,925.00	3	\$5,775.00
	Fire Sprinkler System	Quarterly	1	\$665.00	9	\$5,985.00
	Fire Sprinkler System	Annual	1	\$1,895.00	3	\$5,685.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
12	Communications 333 Chestnut St Clearwater					
	Fire Panel	Annual	1	\$1,175.00	3	\$3,525.00
	Fire Sprinkler System	Quarterly	1	\$385.00	9	\$3,465.00
	Fire Sprinkler System	Annual	1	\$580.00	3	\$1,740.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
13	Brooker Creek 3611 Fletch Haven Tarpon Springs					
	Fire Panel	Annual	1	\$645.00	3	\$1,935.00
	Fire Sprinkler System	Quarterly	1	\$245.00	9	\$2,205.00
	Fire Sprinkler System	Annual	1	\$380.00	3	\$1,140.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
14	Brooker Creek 3620 Fletch Haven Tarpon Springs					
	Fire Sprinkler System	Quarterly	1	\$185.00	9	\$1,665.00
	Fire Sprinkler System	Annual	1	\$325.00	3	\$975.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
15	Brooker Creek Preserve 3940 Keystone Rd Tarpon Springs					

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 5 of 29

	Fire Panel	Annual	1	\$1,395.00	3	\$4,185.00
	Fire Sprinkler System	Quarterly	1	\$465.00	9	\$4,185.00
	Fire Sprinkler System	Annual	1	\$1,330.00	3	\$3,990.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$700.00	1	\$700.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
16	North County Service Center Maintenance 29582 US 19 N Clearwater					
	Fire Panel	Annual	1	\$895.00	3	\$2,685.00
	Sensitivity Testing	Bi- Annual	1	\$395.00	1	\$395.00

17	Emergency Response Building (ERB) 22211 US 19 N., Bldg. #1 Clearwater					
	Fire Panel	Annual	1	\$1,750.00	3	\$5,250.00
	Fire Sprinkler System	Quarterly	1	\$785.00	9	\$7,065.00
	Fire Sprinkler System	Annual	1	\$1,495.00	3	\$4,485.00
	Fire Sprinkler System	3 Year	1	\$1,150.00	1	\$1,150.00
	Fire Sprinkler System	5 year	1	\$750.00	1	\$750.00
	Standpipe Inspection	Quarterly	2	\$220.00	9	\$3,960.00
	Standpipe Inspection	Annual	2	\$385.00	3	\$2,310.00
	Standpipe Inspection	5 Year	2	\$500.00	1	\$1,000.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
18	ERB Bldg. #1 Tank A-Halon System Pentafluoridethane HFC 125 22211 US 19 N Rm A116A Clearwater					
	Fire Panel	Annual	1	\$785.00	3	\$2,355.00
	Chemical Fire Suppression	Semi- Annual	1	\$420.00	6	\$2,520.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
19	ERB Bldg. #1 Tank B-Halon System Pentafluoridethane HFC 125 22211 US 19 N – Rm A216A Clearwater					
	Fire Panel	Annual	1	\$785.00	3	\$2,355.00
	Chemical Fire Suppression	Semi- Annual	1	\$420.00	6	\$2,520.00

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 6 of 29

20	ERB Bldg. #1Tank C-Halon System Pentafluoridethane HFC 125 22211 US 19 N – Rm A216A Clearwater					
	Fire Panel	Annual	1	\$785.00	3	\$2,355.00
	Chemical Fire Suppression	Semi- Annual	1	\$420.00	6	\$2,520.00
21	ERNB Bldg. #1Tank D-Halon System Pentafluoridethane HFC 125 22211 US 19 N., Rm A254A Clearwater					
	Fire Panel	Annual	1	\$785.00	3	\$2,355.00
	Chemical Fire Suppression	Semi- Annual	1	\$420.00	6	\$2,520.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
22	ERB Bldg. #10 Halon System 1301 22211 US 19 N., Rm 116 Clearwater					
	Fire Panel	Annual	1	\$785.00	3	\$2,355.00
	Chemical Fire Suppression	Semi- Annual	1	\$400.00	6	\$2,400.00
23	ERB Bldg. #16 22211 US 19 N Clearwater					
	Fire Panel	Annual	1	\$985.00	3	\$2,955.00
	Sensitivity Testing	Bi- Annual	1	\$450.00	1	\$450.00
24	Vehicle Services Building (VSB) 22211 US 19 N., Bldg. #2 Clearwater					
	Fire Panel	Annual	1	\$690.00	3	\$2,070.00
	Fire Sprinkler System	Quarterly	1	\$385.00	9	\$3,465.00
	Fire Sprinkler System	Annual	1	\$525.00	3	\$1,575.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$220.00	1	\$220.00

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 7 of 29

	Utilities Administration 14 S. Ft. Harrison Ave Clearwater					
	Fire Panel	Annual	1	\$1,250.00	3	\$3,750.00
	Fire Sprinkler System	Quarterly	1	\$480.00	9	\$4,320.00
	Fire Sprinkler System	Annual	1	\$1,475.00	3	\$4,425.00
	Fire Sprinkler System	3 Year	1	\$1,500.00	1	\$1,500.00
	Fire Sprinkler System	5 year	1	\$1,000.00	1	\$1,000.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
26	Palm Harbor Museum 2043 Curlew Rd. Palm Harbor					
	Fire Sprinkler System	Quarterly	1	\$220.00	9	\$1,980.00
	Fire Sprinkler System	Annual	1	\$395.00	3	\$1,185.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	G	ROUP A-SUBTO	DTAL			\$246,920.00
No. In Bid	Location	Frequency	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT TERM QTY	CONTRACT TERM TOTAL
	GROUP B	- DAS FACILITY	OPERATIO	ONS MID COUNTY		
27	Animal Services 12450 Ulmerton Rd. Largo					
	Fire Panel	Annual	1	¢7C0.00		
	Sensitivity Testing	D: Americal		\$760.00	3	\$2,280.00
	, 0	Bi- Annual	1	\$760.00	3 1	\$2,280.00 \$500.00
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo	BI- Annuai	1	-		·
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd	Annual	1	-		·
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo			\$500.00	1	\$500.00
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo Fire Panel	Annual	1	\$500.00 \$3,650.00	3	\$500.00 \$10,950.00
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo Fire Panel Fire Sprinkler System	Annual Quarterly	1 1	\$500.00 \$3,650.00 \$770.00	3 9	\$500.00 \$10,950.00 \$6,930.00
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo Fire Panel Fire Sprinkler System Fire Sprinkler System	Annual Quarterly Annual	1 1 1	\$500.00 \$3,650.00 \$770.00 \$1,495.00	3 9 3	\$500.00 \$10,950.00 \$6,930.00 \$4,485.00
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo Fire Panel Fire Sprinkler System Fire Sprinkler System Fire Sprinkler System	Annual Quarterly Annual 3 Year	1 1 1 1	\$500.00 \$3,650.00 \$770.00 \$1,495.00 \$595.00	3 9 3	\$500.00 \$10,950.00 \$6,930.00 \$4,485.00 \$595.00
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo Fire Panel Fire Sprinkler System Fire Sprinkler System Fire Sprinkler System Fire Sprinkler System	Annual Quarterly Annual 3 Year 5 year	1 1 1 1	\$500.00 \$3,650.00 \$770.00 \$1,495.00 \$595.00 \$750.00	3 9 3 1 1	\$500.00 \$10,950.00 \$6,930.00 \$4,485.00 \$595.00 \$750.00
28	(Public Safety Campus (PSC) Bldg.1 (Main) 10750 Ulmerton Rd Largo Fire Panel Fire Sprinkler System Fire Sprinkler System Fire Sprinkler System Fire Sprinkler System Gas Leak Test	Annual Quarterly Annual 3 Year 5 year 3 year	1 1 1 1 1 1	\$500.00 \$3,650.00 \$770.00 \$1,495.00 \$595.00 \$750.00 \$780.00	3 9 3 1 1	\$500.00 \$10,950.00 \$6,930.00 \$4,485.00 \$595.00 \$750.00 \$780.00
Bid	G Location GROUP B Animal Services 12450 Ulmerton Rd.	ROUP A-SUBTO	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT	

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 8 of 29

	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
29	PSC Bldg. 2 (Facilities) 10750 Ulmerton Rd Largo					
	Fire Panel	Annual	1	\$575.00	3	\$1,725.00
	Fire Sprinkler System	Quarterly	1	\$285.00	9	\$2,565.00
	Fire Sprinkler System	Annual	1	\$365.00	3	\$1,095.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Test	Bi- Annual	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
30	PSC Bldg. 3 (Maint.) 10750 Ulmerton Rd Largo			Ţ CCC.CC		ŢCCC.CC
	Fire Panel	Annual	1	\$575.00	3	\$1,725.00
	Fire Sprinkler System	Quarterly	1	\$285.00	9	\$2,565.00
	Fire Sprinkler System	Annual	1	\$365.00	3	\$1,095.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Test	Bi- Annual	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
31	PSC Bldg. 4 10750 Ulmerton Rd., Largo			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
	Fire Panel	Annual	1	\$565.00	3	\$1,695.00
	EC ARO Clean Agent Fire Suppression Test	Annual	1	\$785.00	3	\$2,355.00
	EC ARO Clean Agent Fire Suppression Test	Semi- Annual	1	\$490.00	6	\$2,940.00
32	PSC Bldg. 5 10750 Ulmerton Rd., Largo					
	Fire Panel	Annual	1	\$575.00	3	\$1,725.00
	Kitchen Fire Suppression System	Semi- Annual	1	\$220.00	6	\$1,320.00
	Fusible Links	Semi- Annual	1	\$140.00	6	\$840.00
	Kitchen Hood Cleaning	Annual	1	\$220.00	3	\$660.00
	Fire Sprinkler System	Quarterly	1	\$385.00	9	\$3,465.00
	Fire Sprinkler System	Annual	1	\$695.00	3	\$2,085.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 9 of 29

	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
33	PSC Parking Garage 10750 Ulmerton Rd., Largo					
	Standpipe Hydro Static test	5 year	1	\$550.00	1	\$550.00
	3 section Control Valve	Quarterly	1	\$220.00	9	\$1,980.00
	3 section Control Valve	Annual	1	\$295.00	3	\$885.00
	Fire Panel	Annual	1	\$695.00	3	\$2,085.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00

34	Medical Examiner Building 10900 Ulmerton Rd Largo					
	Fire Panel	Annual	1	\$1,750.00	3	\$5,250.00
	Fire Sprinkler System	Quarterly	1	\$445.00	9	\$4,005.00
	Fire Sprinkler System	Annual	1	\$695.00	3	\$2,085.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
35	Tax Collector 13025 Starkey Rd Largo					
	Fire Panel	Annual	1	\$500.00	3	\$1,500.00
	Fire Sprinkler System	Quarterly	1	\$225.00	9	\$2,025.00
	Fire Sprinkler System	Annual	1	\$395.00	3	\$1,185.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$150.00	1	\$150.00
36	CO-OP Extension 12520 Ulmerton Rd Largo					
	Fire Panel	Annual	1	\$765.00	3	\$2,295.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
37	Fleet Building 9685 Ulmerton Rd Largo			\$0.00		
	Fire Panel	Annual	1	\$865.00	3	\$2,595.00
	Fire Sprinkler System	Quarterly	1	\$385.00	9	\$3,465.00
	Fire Sprinkler System	Annual	1	\$770.00	3	\$2,310.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	Fire Hydrant	Annual	1	\$50.00	3	\$150.00
	Fire Hydrant	5 year	1	\$85.00	1	\$85.00

PINELLAS COUNTY PURCHASE AMENDMENT Page 10 of

38	EMS Building 12490 Ulmerton Rd Largo					
	Fire Panel	Annual	1	\$2,750.00	3	\$8,250.00
	Fire Sprinkler System	Quarterly	1	\$485.00	9	\$4,365.00
	Fire Sprinkler System	Annual	1	\$690.00	3	\$2,070.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$1,200.00	1	\$1,200.00
	Fire Hydrant	Annual	1	\$50.00	3	\$150.00
	Fire Hydrant	5 year	1	\$85.00	1	\$85.00
39	Heritage Village 11909 125th St					
	Largo					
	Fire Panel	Annual	1	\$1,280.00	3	\$3,840.00
	Fire Sprinkler System	Quarterly	1	\$665.00	9	\$5,985.00
	Fire Sprinkler System	Annual	1	\$1,175.00	3	\$3,525.00
	Fire Sprinkler System	3 Year	1	\$1,150.00	1	\$1,150.00
	Fire Sprinkler System	5 year	1	\$780.00	1	\$780.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
40	Gulf Coast Museum of Art 12211–A Walsingham Rd Largo					
	Fire Panel	Annual	1	\$1,050.00	3	\$3,150.00
	Fire Sprinkler System	Quarterly	1	\$660.00	9	\$5,940.00
	Fire Sprinkler System	Annual	1	\$1,175.00	3	\$3,525.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00

41	Supervisor of Elections 13001 Starkey Rd Largo					
	Fire Panel	Annual	1	\$960.00	3	\$2,880.00
	Fire Sprinkler System	Quarterly	1	\$385.00	9	\$3,465.00
	Fire Sprinkler System	Annual	1	\$890.00	3	\$2,670.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	G	ROUP B-SUBT	OTAL			\$174,230.00
No. In Bid	Location	Frequency	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT TERM QTY	CONTRACT TERM TOTAL
	GROUP C- DA	S FACILITY OP	ERATIONS	SOUTHEAST CENTRAL		

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 11 of

42	Criminal Justice Center (CJC) 14250 49th St N Clearwater WEEKEND INSPECTION					
	Fire Panel	Annual	1	\$8,800.00	3	\$26,400.00
	Fire Sprinkler System	Quarterly	1	\$4,100.00	9	\$36,900.00
	Fire Sprinkler System	Annual	1	\$6,350.00	3	\$19,050.00
	Fire Sprinkler System	3 Year	1	\$2,500.00	1	\$2,500.00
	Fire Sprinkler System	5 year	1	\$2,500.00	1	\$2,500.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Fire Hydrant	Annual	7	\$50.00	3	\$1,050.00
	Fire Hydrant	5 year	7	\$85.00	1	\$595.00
	Standpipe	Quarterly	6	\$220.00	9	\$11,880.00
	Standpipe	Annual	6	\$385.00	3	\$6,930.00
	Standpipe	5 Year	6	\$400.00	1	\$2,400.00
	Sensitivity Testing	Bi- Annual	1	\$3,250.00	1	\$3,250.00
43	Chemical Suppression System FM 200- Telephone Room 14250 49th St N Clearwater					
	Fire Panel	Annual	1	\$795.00	3	\$2,385.00
	Chemical Fire Suppression	Semi- Annual	1	\$480.00	6	\$2,880.00
44	Chemical Suppression System FM 200- UPS Battery Room 14250 49th St N Clearwater					
	Fire Panel	Annual	1	\$795.00	3	\$2,385.00
	Chemical Fire Suppression	Semi- Annual	1	\$480.00	6	\$2,880.00
45	Chemical Suppression System FM 200- 3rd Floor Computer Room 14250 49th St N Clearwater					
	Fire Panel	Annual	1	\$795.00	3	\$2,385.00
	Chemical Fire Suppression	Semi- Annual	1	\$480.00	6	\$2,880.00
	CJC Garage					
46	14250 49th St N Clearwater					
46		Annual	1	\$745.00	3	\$2,235.00
46	Clearwater	Annual Quarterly	1 1	\$745.00 \$330.00	3 9	\$2,235.00 \$2,970.00
46	Clearwater Fire Panel			· ·	-	

	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	3	\$220.00	9	\$5,940.00
	Standpipe	Annual	3	\$385.00	3	\$3,465.00
	Standpipe	5 Year	3	\$500.00	1	\$1,500.00
47	Sheriff's Forensic Services Tech 1 4801 145th Ave N Clearwater					
	Fire Panel	Annual	1	\$575.00	3	\$1,725.00
	Sensitivity Testing	Bi- Annual	1	\$200.00	1	\$200.00
48	Sheriff's Forensic Evidence Building Tech 2 4707 145th Ave N Clearwater					
	Fire Panel	Annual	1	\$645.00	3	\$1,935.00
	Sensitivity Testing	Bi- Annual	1	\$275.00	1	\$275.00
49	Sheriff's AFIS Building Tech 3 4645 145th Ave N Clearwater					
	Fire Panel	Annual	1	\$645.00	3	\$1,935.00
	Sensitivity Testing	Bi- Annual	1	\$375.00	1	\$375.00
50	Clerk Records 14155 49th St N Clearwater					
	Fire Panel	Annual	1	\$695.00	3	\$2,085.00
	Sensitivity Testing	Bi- Annual	1	\$475.00	1	\$475.00
51	Sheriff's K-9 3410 118th Ave N Clearwater					
	Fire Panel	Annual	1	\$695.00	3	\$2,085.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
52	Weedon Island Education Center 1800 Weedon Island Dr NE St. Petersburg					
	Fire Panel	Annual	1	\$785.00	3	\$2,355.00
	Fire Sprinkler System	Quarterly	1	\$385.00	9	\$3,465.00

	G	ROUP C-SUBTO	OTAL			\$201,605.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Sensitivity Testing	Bi- Annual	1	\$150.00	1	\$150.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	Annual	1	\$595.00	3	\$1,785.00
	Fire Sprinkler System	Quarterly	1	\$280.00	9	\$2,520.00
	Fire Panel	Annual	1	\$595.00	3	\$1,785.00
	Amendment			AF05.00		64.705.00
55	Lealman Fire House 4017 56th Ave N St. Petersburg-Location removed in Second					
	Sensitivity Testing	Bi- Annual	1	\$400.00	1	\$400.00
	Fire Panel	Annual	1	\$595.00	3	\$1,785.00
54	PAL Lealman Center 3755 46th Ave N St. Petersburg					
	Sensitivity Testing	Bi- Annual	1	\$200.00	1	\$200.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Standpipe	Annual	1	\$185.00	3	\$555.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Fire Hydrant	5 Year	3	\$85.00	1	\$255.00
	Fire Hydrant	Annual	3	\$50.00	3	\$450.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$593.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	Annual	1	\$890.00	3	\$2,670.00
	Fire Sprinkler System	Annual Quarterly	1	\$550.00 \$385.00	9	\$1,650.00 \$3,465.00
53	Mosquito Control 4100 118th Ave N Clearwater Fire Panel	Appual	1	¢EEO OO	3	\$1,650,00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Fire Hydrant	5 year	3	\$85.00	1	\$255.00
	Fire Hydrant	Annual	3	\$50.00	3	\$450.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	Annual	1	\$720.00	3	\$2,160.00

PINELLAS COUNTY PURCHASE AMENDMENT Page 14 of

No. In	Location	Fraguency	UNIT	PRICE PER	CONTRACT	CONTRACT
Bid	Location	Frequency	QTY	INSPECTION/TEST	TERM QTY	TERM TOTAL

	GROUP D- DAS FACI	LITY OPERATIONS SOU	ГНЕА	ST SOUTH		
56	County Operations Building A 501 1st Ave N St. Petersburg				П	
	Fire Panel	Annual	1	\$2,045.00	3	\$6,135.00
	Fire Sprinkler System	Quarterly	1	\$875.00	9	\$7,875.00
	Fire Sprinkler System	Annual	1	\$1,650.00	3	\$4,950.00
	Fire Sprinkler System	3 Year	1	\$1,150.00	1	\$1,150.00
	Fire Sprinkler System	5 year	1	\$780.00	1	\$780.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$780.00	1	\$780.00
57	County Operations Annex 501 1st Ave N., Building B St. Petersburg					
	Fire Panel	Annual	1	\$1,020.00	3	\$3,060.00
	Fire Sprinkler System	Quarterly	1	\$415.00	9	\$3,735.00
	Fire Sprinkler System	Annual	1	\$895.00	3	\$2,685.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
58	St. Pete Courthouse 545 1st Ave N., Building A St. Petersburg					
	Fire Panel	Annual	1	\$2,110.00	3	\$6,330.00
	Fire Sprinkler System	Quarterly	1	\$770.00	9	\$6,930.00
	Fire Sprinkler System	Annual	1	\$1,650.00	3	\$4,950.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Ansul Clean Agent System	Annual	1	\$220.00	3	\$660.00
	Ansul Clean Agent System	Semi- Annual	1	\$220.00	6	\$1,320.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00

Rev 02-2024 29

Ī	Standpipe	5 Year	1	\$500.00	1	\$500.00		
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00		
59	St. Pete Courthouse Judicial Building B 545 1st Ave N St. Petersburg							
	Fire Panel	Annual	1	\$620.00	3	\$1,860.00		
	Fire Sprinkler System	Quarterly	1	\$380.00	9	\$3,420.00		
	Fire Sprinkler System	Annual	1	\$500.00	3	\$1,500.00		
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00		
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00		
	Sensitivity Testing	Bi- Annual	1	\$250.00	1	\$250.00		
60	Human Services 647 1st Ave N St. Petersburg							
	Fire Panel	Annual	1	\$1,015.00	3	\$3,045.00		
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00		
61	South County Connection Center 3874 54th Ave N St. Petersburg							
	Fire Panel	Annual	1	\$500.00	3	\$1,500.00		
	Fire Sprinkler System	Quarterly	1	\$240.00	9	\$2,160.00		
	Fire Sprinkler System	Annual	1	\$480.00	3	\$1,440.00		
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00		
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00		
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00		
62	South County Service Center 1800 66th St N St. Petersburg-Location removed in Second Amendment							
	Fire Panel	Annual	1	\$595.00	3	\$1,785.00		
	Standpipe	Quarterly	1	\$225.00	9	\$2,025.00		
	Standpipe	Annual	1	\$385.00	3	\$1,155.00		
	Standpipe	5 Year	1	\$500.00	1	\$500.00		
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00		
	GROUP D- SUBTOTAL							

PINELLAS COUNTY PURCHASE AMENDMENT Page 16 of

No. In Bid	Location	Frequency	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT TERM QTY	CONTRACT TERM TOTAL
	GROUP	E- DAS FACILITY	Y OPERATION	ONS DETENTION		
63	Detention Campus 14400 49th St Clearwater					
	Fire Hydrant	Annual	31	\$50.00	3	\$4,650.00
	Fire Hydrant	5 year	31	\$85.00	1	\$2,635.00
64	A Barracks 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$855.00	3	\$2,565.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	Fire Sprinkler System	Quarterly	1	\$210.00	9	\$1,890.00
	Fire Sprinkler System	Annual	1	\$385.00	3	\$1,155.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
65	C Barracks 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$1,850.00	3	\$5,550.00
	Fire Sprinkler System	Quarterly	1	\$880.00	9	\$7,920.00
	Fire Sprinkler System	3 Year	1	\$1,500.00	1	\$1,500.00
	Fire Sprinkler System	Annual	1	\$1,680.00	3	\$5,040.00
	Fire Sprinkler System	5 year	1	\$1,200.00	1	\$1,200.00
	Sensitivity Testing	Bi- Annual	1	\$385.00	1	\$385.00
	Deluge Valves	Annual	8	\$500.00	3	\$12,000.00
66	Phase 1 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$1,990.00	3	\$5,970.00
	Fire Sprinkler System	Quarterly	1	\$890.00	9	\$8,010.00
	Fire Sprinkler System	3 Year	1	\$1,500.00	1	\$1,500.00
	Fire Sprinkler System	Annual	1	\$1,400.00	3	\$4,200.00
	Fire Sprinkler System	5 year	1	\$1,000.00	1	\$1,000.00
	Standpipe	Quarterly	5	\$220.00	9	\$9,900.00
	Standpipe	Annual	5	\$285.00	3	\$4,275.00
	Standpipe	5 Year	5	\$400.00	1	\$2,000.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	Deluge Valves	Annual	12	\$185.00	3	\$6,660.00
67	F Wing 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$3,675.00	3	\$11,025.00
	Fire Sprinkler System	Quarterly	1	\$1,125.00	9	\$10,125.00

	Fire Sprinkler System	3 Year	1	\$1,500.00	1	\$1,500.00
	Fire Sprinkler System	Annual	1	\$2,050.00	3	\$6,150.00
	Fire Sprinkler System	5 year	1	\$1,500.00	1	\$1,500.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	Deluge Valves	Annual	40	\$140.00	3	\$16,800.00
68	G Wing 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$1,500.00	3	\$4,500.00
	Fire Sprinkler System	Quarterly	1	\$880.00	9	\$7,920.00
	Fire Sprinkler System	3 Year	1	\$1,500.00	1	\$1,500.00
	Fire Sprinkler System	Annual	1	\$1,780.00	3	\$5,340.00
	Fire Sprinkler System	5 year	1	\$1,200.00	1	\$1,200.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	Deluge Valves	Annual	12	\$185.00	3	\$6,660.00
69	Mini 1 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$785.00	3	\$2,355.00
	Fire Sprinkler System	Quarterly	1	\$380.00	9	\$3,420.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	Annual	1	\$390.00	3	\$1,170.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$250.00	1	\$250.00

70	Mini 2 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$815.00	3	\$2,445.00
	Fire Sprinkler System	Quarterly	1	\$280.00	9	\$2,520.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	Annual	1	\$390.00	3	\$1,170.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$250.00	1	\$250.00
71	Central 14400 49th St Clearwater					
	Fire Sprinkler System	Quarterly	1	\$3,850.00	9	\$34,650.00
	Fire Sprinkler System	Annual	1	\$8,000.00	3	\$24,000.00
	Fire Sprinkler System	3 Year	1	\$5,000.00	1	\$5,000.00

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT 29

	Fire Sprinkler System	5 year	1	\$5,000.00	1	\$5,000.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Standpipe	Quarterly	6	\$220.00	9	\$11,880.00
	Standpipe	Annual	6	\$385.00	3	\$6,930.00
	Standpipe	5 Year	6	\$500.00	1	\$3,000.00
	Sensitivity Testing	Bi- Annual	1	\$2,100.00	1	\$2,100.00
	Annex 1					
72	14400 49th St Clearwater					
	Fire Panel	Annual	1	\$1,120.00	3	\$3,360.00
	Fire Sprinkler System	Quarterly	1	\$260.00	9	\$2,340.00
	Fire Sprinkler System	Annual	1	\$380.00	3	\$1,140.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
73	Health Care 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$2,695.00	3	\$8,085.00
	Fire Sprinkler System	Quarterly	1	\$1,050.00	9	\$9,450.00
	Fire Sprinkler System	Annual	1	\$1,880.00	3	\$5,640.00
	Fire Sprinkler System	3 Year	1	\$780.00	1	\$780.00
	Fire Sprinkler System	5 year	1	\$780.00	1	\$780.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Standpipe	Quarterly	4	\$220.00	9	\$7,920.00
	Standpipe	Annual	4	\$385.00	3	\$4,620.00
	Standpipe	5 Year	4	\$400.00	1	\$1,600.00
	Sensitivity Testing	Bi- Annual	1	\$780.00	1	\$780.00
74	Wood Shop 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$360.00	3	\$1,080.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00
75	SASB 14540 49th St Clearwater					
	Fire Panel	Annual	1	\$695.00	3	\$2,085.00
	Fire Sprinkler System	Quarterly	1	\$480.00	9	\$4,320.00
	Fire Sprinkler System	Annual	1	\$720.00	3	\$2,160.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Fire Panel	Annual	1	\$695.00	3	\$2,085.00
	Sensitivity Testing	Bi- Annual	1	\$300.00	1	\$300.00
76	Annex II (Safe Harbor) 14840 49th St Clearwater					
	Fire Panel	Annual	1	\$780.00	3	\$2,340.00
	ı	l	l		ı	

PINELLAS COUNTY PURCHASE AMENDMENT Page 19 of

	Fire Sprinkler System	Quarterly	1	\$275.00	9	\$2,475.00
	Fire Sprinkler System	Annual	1	\$480.00	3	\$1,440.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$300.00	1	\$300.00
77	Bayside Health Clinic 14808 49th St N Clearwater					
	Fire Panel	Annual	1	\$525.00	3	\$1,575.00
	Fire Sprinkler System	Quarterly	1	\$325.00	9	\$2,925.00
	Fire Sprinkler System	Annual	1	\$560.00	3	\$1,680.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$200.00	1	\$200.00
78	Detention Facility Operations/Sheriff's Purchasing Warehouse 14400 49th St Clearwater					
	Fire Sprinkler System	Quarterly	1	\$420.00	9	\$3,780.00
	Fire Sprinkler System	Annual	1	\$880.00	3	\$2,640.00
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00
	Fire Sprinkler System	5 Year	1	\$500.00	1	\$500.00
	Fire Pump	Annual	1	\$695.00	3	\$2,085.00
	Fire Panel	Annual	1	\$770.00	3	\$2,310.00
	Sensitivity Testing	Bi- Annual	1	\$225.00	1	\$225.00

79	Detention Infrastructure 14400 49th St Clearwater					
	Fire Panel	Annual	1	\$935.00	3	\$2,805.00
	Fire Sprinkler System	Quarterly	1	\$480.00	9	\$4,320.00
	Fire Sprinkler System	Annual	1	\$1,050.00	3	\$3,150.00
	Fire Sprinkler System	3 Year	1	\$780.00	1	\$780.00
	Fire Sprinkler System	5 Year	1	\$780.00	1	\$780.00
	Clean Agent Suppression Test	Semi- Annual	1	\$380.00	6	\$2,280.00
	Clean Agent Suppression Test	Annual	1	\$780.00	3	\$2,340.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
	GI	ROUP E- SUBTO	OTAL			\$401,990.00

PINELLAS COUNTY PURCHASE AMENDMENT Page 20 of

No. In			UNIT	PRICE PER	CONTRACT	CONTRACT
Bid	Location	Frequency	QTY	INSPECTION/TEST	TERM QTY	TERM TOTAL
	GROU	JP F- ST. PETE/	CLEARWA	TER AIRPORT	-	
80	Airport Facilities. 15425 Fairchild Dr, Clearwater					
	Fire Panel	Annual	1	\$480.00	3	\$1,440.00
	Fire Sprinkler System	Quarterly	1	\$325.00	9	\$2,925.00
	Fire Sprinkler System	Annual	1	\$575.00	3	\$1,725.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
81	Clearwater Terminal 14700 Terminal Parkway Clearwater					
	Fire Panel	Annual	1	\$2,100.00	3	\$6,300.00
	Fire Sprinkler System	Quarterly	1	\$485.00	9	\$4,365.00
	Fire Sprinkler System	Annual	1	\$1,230.00	3	\$3,690.00
	Fire Sprinkler System	3 Year	1	\$1,150.00	1	\$1,150.00
	Fire Sprinkler System	5 year	1	\$1,500.00	1	\$1,500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$650.00	1	\$650.00
	G	ROUP F-SUBTO	OTAL			\$28,565.00
No. In Bid	Location	Frequency	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT TERM QTY	CONTRACT TERM TOTAL
		GROUP	G- UTILITIE	S		
82	Dunn Water Reclamation Facility – Admin Bldg. 4111 Dunn Dr					
	Palm Harbor					
		Annual	1	\$890.00	3	\$2,670.00
	Palm Harbor	Annual Bi- Annual	1 1	\$890.00 \$500.00	3 1	\$2,670.00 \$500.00
83	Palm Harbor Fire Panel					
83	Palm Harbor Fire Panel Sensitivity Testing Dunn Water Reclamation Facility – Dewatering Bldg. 4111 Dunn Dr					
83	Palm Harbor Fire Panel Sensitivity Testing Dunn Water Reclamation Facility – Dewatering Bldg. 4111 Dunn Dr Palm Harbor	Bi- Annual	1	\$500.00	1	\$500.00
83	Palm Harbor Fire Panel Sensitivity Testing Dunn Water Reclamation Facility – Dewatering Bldg. 4111 Dunn Dr Palm Harbor Fire Panel	Bi- Annual	1	\$500.00 \$385.00	3	\$500.00 \$1,155.00
	Palm Harbor Fire Panel Sensitivity Testing Dunn Water Reclamation Facility – Dewatering Bldg. 4111 Dunn Dr Palm Harbor Fire Panel Sensitivity Testing Maintenance South 6730 142nd Ave N	Bi- Annual	1	\$500.00 \$385.00	3	\$500.00 \$1,155.00
	Palm Harbor Fire Panel Sensitivity Testing Dunn Water Reclamation Facility – Dewatering Bldg. 4111 Dunn Dr Palm Harbor Fire Panel Sensitivity Testing Maintenance South 6730 142nd Ave N Largo	Annual Bi- Annual	1 1 1	\$500.00 \$385.00 \$210.00	3 1	\$500.00 \$1,155.00 \$210.00

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 21 of

	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$120.00	1	\$120.00
	Chemical Fire Suppression	Semi- Annual	1	\$385.00	6	\$2,310.00
85	PC Utilities Lab 1620 Ridge Rd Largo					
	Fire Panel	Annual	1	\$1,045.00	3	\$3,135.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
86	Keller Water Treatment Facility Electrical Bldg. 3655 Keller Circle Tarpon Springs					
	Fire Panel	Annual	1	\$795.00	3	\$2,385.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$220.00	1	\$220.00
87	Keller Water Treatment Facility Main Admin Bldg. 3655 Keller Circle Tarpon Springs					
	Fire Panel	Annual	1	\$620.00	3	\$1,860.00
	Fire Sprinkler System	Quarterly	1	\$385.00	9	\$3,465.00
	Fire Sprinkler System	Annual	1	\$770.00	3	\$2,310.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Kitchen Fire Suppression System	Semi- Annual	1	\$220.00	6	\$1,320.00
	Fusible Links	Semi- Annual	1	\$140.00	6	\$840.00
	Kitchen Hood Cleaning	Annual	1	\$700.00	3	\$2,100.00
	Sensitivity Testing	Bi- Annual	1	\$350.00	1	\$350.00

88	Pump Station 016 10548 Park Blvd. Seminole					
	Fire Panel	Annual	1	\$425.00	3	\$1,275.00
	Sensitivity Testing	Bi- Annual	1	\$220.00	1	\$220.00
89	McKay Creek Booster 1170 Hamlin Blvd. Largo					

Rev 02-2024 PINELLAS COUNTY PURCHASE AMENDMENT Page 22 of

	Fire Panel	Annual	1	\$660.00	3	\$1,980.00
	Sensitivity Testing	Bi- Annual	1	\$300.00	1	\$300.00
90	FOG Facility 10901 28th St. N. St. Petersburg					
	Fire Panel	Annual	1	\$895.00	3	\$2,685.00
	Sensitivity Testing	Bi- Annual	1	\$260.00	1	\$260.00
91	SCB Public Education Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$1,250.00	3	\$3,750.00
	Sensitivity Testing	Bi- Annual	1	\$550.00	1	\$550.00
92	SCB Generator 1 Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$385.00	3	\$1,155.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00
93	SCB Generator 2 Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$385.00	3	\$1,155.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00
94	SCB Generator 3 Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$420.00	3	\$1,260.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00
95	SCB Generator 4 Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$485.00	3	\$1,455.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00
96	SCB Methanol Storage 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$325.00	3	\$975.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
	Chemical Fire Suppression	Semi- Annual	1	\$480.00	6	\$2,880.00
97	SCB Denitrification Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$265.00	3	\$795.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
	•					

PINELLAS COUNTY PURCHASE AMENDMENT Page 23 of

98	SCB Dewat Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$265.00	3	\$795.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
99	SCB EQ/UV/Warehouse 2 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$265.00	3	\$795.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
100	SCB North Train Blower Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$265.00	3	\$795.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
101	SCB South Train Blower Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$480.00	3	\$1,440.00
	Sensitivity Testing	Bi- Annual	1	\$220.00	1	\$220.00
102	SCB Dechlorination Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$320.00	3	\$960.00
	Sensitivity Testing	Bi- Annual	1	\$155.00	1	\$155.00
103	SCB Storage Building/Warehouse 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$385.00	3	\$1,155.00
	Sensitivity Testing	Bi- Annual	1	\$220.00	1	\$220.00
104	SCB Maintenance Building 7401 54th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$315.00	3	\$945.00
	Sensitivity Testing	Bi- Annual	1	\$220.00	1	\$220.00
105	SCB IPS Building 7401 54th Ave N. St. Petersburg					
				4		+
	Fire Panel	Annual	1	\$285.00	3	\$855.00

PINELLAS COUNTY PURCHASE AMENDMENT Page 24 of

106	SCB Operations Building 7401 54th Ave N.					
	St. Petersburg					
	Fire Panel	Annual	1	\$675.00	3	\$2,025.00
	Sensitivity Testing	Bi- Annual	1	\$225.00	1	\$225.00
	Kitchen Fire Suppression System	Semi- Annual	1	\$220.00	6	\$1,320.00
	Fusible Links	Semi- Annual	1	\$140.00	6	\$840.00
	Kitchen Hood Cleaning	Annual	1	\$700.00	3	\$2,100.00
107	Cross Bar Ranch Education Center, 20031 Locket Ave, Spring Hill					
	Fire Panel	Annual	1	\$345.00	3	\$1,035.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00
	G	ROUP G- SUBT	OTAL			\$79,030.00
No. In Bid	Location	Frequency	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT TERM QTY	CONTRACT TERM TOTAL
		GROUP H-	SOLID WA	STE		
108	Solid Waste - Admin Bldg. 3095 114th Ave N St Petersburg					
	Fire Panel	Annual	1	\$665.00	3	\$1,995.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
109	Solid Waste – HEC3 (Foam Fire Suppression System in Chemical Storage Bldg.) 2855-2857 109th Ave St Petersburg					
	Fire Panel	Annual	1	\$265.00	3	\$795.00
	Foam Water Suppression	Quarterly	1	\$485.00	9	\$4,365.00
	Foam Water Suppression	Annual	1	\$1,250.00	3	\$3,750.00
	Foam Water Suppression	3 Year	1	\$595.00	1	\$595.00
	Foam Water Suppression	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	2	\$220.00	9	\$3,960.00
	Standpipe	Annual	2	\$385.00	3	\$2,310.00
	Standpipe	5 Year	2	\$500.00	1	\$1,000.00
	Sensitivity Testing	Bi- Annual	1	\$500.00	1	\$500.00
110	Solid Waste – Scale Houses 3100 114th Ave N St Petersburg					
	Fire Panel	Annual	1	\$485.00	3	\$1,455.00
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00

PINELLAS COUNTY PURCHASE AMENDMENT Page 25 of

111	Solid Waste –Citizens Hand Unload 3181 114th Ave N St Petersburg					
	Fire Panel	Annual	1	\$285.00	3	\$855.00
	Sensitivity Testing	Bi- Annual	1	\$185.00	1	\$185.00
	Fire Sprinkler System	Quarterly	1	\$325.00	9	\$2,925.00
	Fire Sprinkler System	Annual	1	\$415.00	3	\$1,245.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	4	\$220.00	9	\$7,920.00
	Standpipe	Annual	4	\$385.00	3	\$4,620.00
	Standpipe	5 Year	4	\$500.00	1	\$2,000.00
112	Solid Waste - Water Treatment Plant 2861 110th Ave. N. St. Petersburg					
	Fire Panel	Annual	1	\$480.00	3	\$1,440.00
	Fire Sprinkler System	Quarterly	1	\$285.00	9	\$2,565.00
	Fire Sprinkler System	Annual	1	\$565.00	3	\$1,695.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$150.00	1	\$150.00

113	Solid Waste to Energy – Admin 29400 110th Ave N St. Petersburg					
	Fire Panel	Annual	1	\$295.00	3	\$885.00
	Fire Sprinkler System	Quarterly	1	\$195.00	9	\$1,755.00
	Fire Sprinkler System	Annual	1	\$345.00	3	\$1,035.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$150.00	1	\$150.00

PINELLAS COUNTY PURCHASE AMENDMENT Page 26 of

114	Solid Waste to Energy – Shower/Locker Bldg. 2901 110th Ave N. St. Petersburg					
	Fire Panel	Annual	1	\$285.00	3	\$855.00
	Fire Sprinkler System	Quarterly	1	\$145.00	9	\$1,305.00
	Fire Sprinkler System	Annual	1	\$285.00	3	\$855.00
	Fire Sprinkler System	3 Year	1	\$500.00	1	\$500.00
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00
	Standpipe	Quarterly	1	\$220.00	9	\$1,980.00
	Standpipe	Annual	1	\$385.00	3	\$1,155.00
	Standpipe	5 Year	1	\$500.00	1	\$500.00
	Sensitivity Testing	Bi- Annual	1	\$150.00	1	\$150.00
	G	ROUP H-SUBTO	OTAL	1		\$69,430.00
No. In Bid	Location	Frequency	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT TERM QTY	CONTRACT TERM TOTAL
		GROUP I-	STAR CENT	TER		
115	STAR Center 7887 Bryan Dairy Rd Largo					
	Fire Sprinkler System	Quarterly	1	\$1,650.00	9	\$14,850.00
	Fire Sprinkler System	Annual	1	\$4,080.00	3	\$12,240.00
	Fire Sprinkler System	3 Year	1	\$1,150.00	1	\$1,150.00
	Fire Sprinkler System	5 year (with internal pipe & check valve)	1	\$780.00	1	\$780.00
	Standpipe	Quarterly	1	\$480.00	9	\$4,320.00
	Standpipe	Annual	1	\$780.00	3	\$2,340.00
	Kitchen Fire Suppression System	Semi- Annual	1	\$220.00	6	\$1,320.00
	Fusible Links	Semi- Annual	1	\$140.00	6	\$840.00
	Kitchen Hood Cleaning	Annual	1	\$700.00	3	\$2,100.00
	Chemical Suppression System	Semi- Annual	1	\$480.00	6	\$2,880.00
	Fire Hydrant	Annual	12	\$50.00	3	\$1,800.00
	Fire Hydrant	5 Year	12	\$85.00	1	\$1,020.00
	Standpipe	Quarterly	4	\$185.00	9	\$6,660.00
	Standpipe	Annual	4	\$385.00	3	\$4,620.00
	Standpipe	5 Year	4	\$500.00	1	\$2,000.00
	Sensitivity Testing	Bi- Annual	1	\$780.00	1	\$780.00
	Fire Pump	Annual	2	\$695.00	6	\$8,340.00

Rev 02-2024 29

ITEM NUMBER	Location	Frequency	UNIT QTY	PRICE PER INSPECTION/TEST	CONTRACT TERM QTY	CONTRACT TERM TOTAL
	ADDITION	IAL LOCATION	IS PER FIRST	T AMENDMENT		
116	ICOT Building A, 13600 Icot Blvd.					
Fir	e alarm System Test and Inspect	Annual	1	\$595.00	2	\$1,190.00
	Fire Sprinkler System Standpipe Test and Inspection	Annual	1	\$460.00	2	\$920.00
117	ICOT Building B, 13600 Icot Blvd.					
Fir	e alarm System Test and Inspect	Annual	1	\$485.00	2	\$970.00
	Fire Sprinkler System Standpipe Test and Inspection	Annual	1	\$460.00	2	\$920.00
		SECTION TOTA	\L			\$4,000.00

DELETED LOCATIONS PER SECOND AMENDMENT												
	Lealman Fire House											
55	4017 56th Ave N											
	St. Petersburg											
	Fire Panel	Annual	1	\$595.00	2	\$1,190.00						
	Fire Sprinkler System	Quarterly	1	\$280.00	6	\$1,680.00						
	Fire Sprinkler System	Annual	1	\$595.00	2	\$1,190.00						
	Fire Sprinkler System	3 Year	1	\$595.00	1	\$595.00						
	Fire Sprinkler System	5 year	1	\$500.00	1	\$500.00						
	Sensitivity Testing	Bi- Annual	1	\$150.00	1	\$150.00						
	Standpipe	Quarterly	1	\$220.00	6	\$1,320.00						
	Standpipe	Annual	1	\$385.00	2	\$770.00						
	Standpipe	5 Year	1	\$500.00	1	\$500.00						
	South County Service Center											
62	1800 66th St N											
	St. Petersburg											
	Fire Panel	Annual	1	\$595.00	2	\$1,190.00						
	Standpipe	Quarterly	1	\$225.00	6	\$1,350.00						
	Standpipe	Annual	1	\$385.00	1	\$385.00						
	Standpipe	5 Year	1	\$500.00	1	\$500.00						
	Sensitivity Testing	Bi- Annual	1	\$210.00	1	\$210.00						
	SECTION TOTAL											

PINELLAS COUNTY PURCHASE AMENDMENT Page 28 of

SCHEDULED SERVICE AND INSPECTION										
GROUP A- DAS FACILITY OPERATIONS NORTHWEST										
							\vdash	\$246,920.00 \$174,230.00		
GROUP B- DAS FACILITY OPERATIONS MID COUNTY										
GROUP C- DAS FACILITY OPERATIONS SOUTHEAST CENTRAL GROUP D- DAS FACILITY OPERATIONS SOUTHEAST SOUTH										
GROUP E- DAS FACILITY OPERATIONS I		300111						\$95,440.00 \$401,990.00		
GROUP F- ST. PETE/CLEARWATER AIRPORT										
GROUP G- UTILITIES										
GROUP H- SOLID WASTE										
GROUP I- STAR CENTER										
CONTRACT TERM TOTAL:										
								1,365,250.00		
REPAIRS/SERVICE CALLS LABOR RATES						HOURLY RATE		CONTRACT SUBTOTAL		
Rate 1: Repair/Service rate per hour:										
During regular working hours 7:00am to 4:00)pm									
Monday-Friday					1850	\$ 120.00	\$	222,000.00		
Rate 2: Repair/Service rate per hour:										
Before 7:00am or after 4:00pm, or on weekends or holidays						\$ 180.00	\$	27,000.00		
Rate 3: Emergecy repair/serivce rate per ho										
Emergency response during regular working hours 7:00am to 4:00pm							١.			
Monday-Friday	60	\$ 180.00	\$	10,800.00						
Rate 4: Emergency repair/service rate per hour:										
Emergency response before 7:00am or after	30	\$ 240.00	_	7,200.00						
		1	KE	PAIRS/SERVIC	E CALL ESTIN	MATED TOTAL:	\$	267,000.00		
<u>PARTS</u>						ESTIMATED CONTRACT TERM PARTS TOTAL PERCENT DISCOUNT FROM MSRP		CONTRACT SUBTOTAL		
					\$185,000.00	0%	\$	185,000.00		
					PARTS ESTIN	MATED TOTAL:	\$	185,000.00		
UNSP						PECIFIED (CONTRACT TERM):				
						RAND TOTAL:		175,000.00		
					CONTRACT	RAND TOTAL.	φ	1,992,230.00		
First Amendment Additional Lo Second Amendment-Removal					REVISED GRA	AND TOTAL	\$	\$4,000.00 (3,635.00) 1,992,615.00		
							Ť	.,,		
, and the second	ADDITIONAL S	SERVICES F	PRICII	NG			Ì			
		Semi- Annual			5 Year	An Nandadad				
Fire Hydrant Inchestion	Quarterly	Amuai	\$	Annual 50.00	5 Year \$ 85.00	As Needed	\vdash			
Fire Hydrant Inspection			\$		φ 85.00		\vdash			
Fire Pump Inspection Fire Suppression Inspection		\$ 480.00	_	695.00 780.00						
Fusible Links Replacement		\$ 140.00	Ψ	700.00						
Kitchen Hood Cleaning		ψ 1+0.00	\$	850.00						
			Ť	550.00		\$ 200.00				
Heat Detector Replacement						\$ 200.00	t			
Heat Detector Replacement Emergency Service Call- False Alarm										
·						\$ 200.00				
Emergency Service Call- False Alarm						•				
Emergency Service Call-False Alarm Exit Pull Station Repair						\$ 200.00				
Emergency Service Call-False Alarm Exit Pull Station Repair Battery Fault Troubleshoot						\$ 200.00 \$ 200.00				
Emergency Service Call-False Alarm Exit Pull Station Repair Battery Fault Troubleshoot Phoneline Troubleshoot						\$ 200.00 \$ 200.00 \$ 200.00				
Emergency Service Call-False Alarm Exit Pull Station Repair Battery Fault Troubleshoot Phoneline Troubleshoot Strobe Horn Replacement						\$ 200.00 \$ 200.00 \$ 200.00 \$ 200.00				

Rev 02-2024 29 PINELLAS COUNTY PURCHASE AMENDMENT Page 29 of